Laws of Logarithms
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Warm Up

Review of laws of logarithms...

Given thatlog A =-3 log N =5 andlog, P=4, evaluate the following logarithmic
expression:
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Solve the following equation: bk 23"
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Questions from Homework
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We have now covered base "e"...both as an
exponential and logarithmic function...

What about other bases??

Will need to know the change of base formula for logarithms:
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This leaves one form of exponential function remaining...

» What about a function suchas )y = 39Jr
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Practice Problems:
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